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fAM: sgIlsdH
H: sE0N8N U 5JE 22
&2 SM4FE JI=Es CEE-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o 12,000
201 L2l 16,000 22,000 A 6,000
= 8,000
s 8,000
01 At 2t 2l 2,000 4,000 A 2,000
OZ2rs D DM D7 ME L 2
2,000,000& 2,000
= 1,000
e 1,000
03 A2 Z Hl 14,000 18,000 A 4,000
OZas uUs 29 14,000, 000& 14,000
= 7,000
s 7,000
301 LPEHF 2,000 3,000 A 1,000
= 1,000
[ia 1,000
09 HALAHIX &S 2,000 3,000 21,000
OLss DT 34 2 F2ASHE 2
2,000,000& 2,000
= 1,000
s 1,000
307 21201 A 6,000 6,000 0
2 3,000
s 3,000
02 It S AHE L 6,000 6,000 0
OZas M 22 A 6,000,000& 6,000
= 3,000
e 3,000
ANE9=slls 28X 10,000 10,000 0
2 4,000
s 6,000
101 14 Hl 10,000 10,000 0
2 4,000
s 6,000
04 JIZtHZ22XEES 10,000 10,000 0
ONSHEs s¢IaFLs TN 28
ZEh) 10,000, 000& 10,000
2 4,000
s 6,000
SHE ASTAE2A 6,120 7,200 21,080
= 6,120
202 O4dl 2,040 2,400 A 360
= 2,040
01 = LHA YI 2,040 2,400 A 360
OsttsasSEMN 24 2 3IIEF IIE K
u]l ,040,000& 2,040
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AN sg€II=4dH
My =E0NS4 U s52J2 23
&2 SM4FE JI=Es CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 7,040
301 YHEHD 4,080 4,800 AT20
= 4,080
12JEEd=S 4,080 4,800 AT20
Osdts ASZA 24 2 BFIEH JIE 2
& 4,080,0002 4,080
= 4,080
JIHE SsX& 640,190 1,715,691 A 1,075,501
2 26,890
< 4,500
s 608,800
SYIIAHAE W= 9,780 9,080 700
= 4,890
s 4,890
206 M= Hl 9,780 9,080 700
= 4,890
[ia 4,890
01 =8l 9,780 9,080 700
OsgIHEZFMRUSE 9,780,000& 9,780
= 4,890
e 4,890
MIl=22 e (=sIIH) 15,000 15,000 0
< 4,500
s 10,500
206 TH 2 Hl 15,000 15,000 0
< 4,500
s 10,500
01 M= 4l 15,000 15,000 0
OsgllAHza+=c usia 15,000, 000& 15,000
< 4,500
s 10,500
SIH UMY 456,960 342,741 114,219
101 @14l 16,704 0 16,704
04 JI2ZtHZ22HEE = 16,704 0 16,704
OsgYIIH LAY o8 16,704
-=0 1,881,000% * 1H * 8= 15,048
-ALRIEE JI2RE S 15,048,000& * 11% 1,656
201 2Bt 2t 173,116 145,281 27,835
01 At 22l 12,589 10, 160 2,429
Oocl=g M= 6,000& » 1,000% 6,000
OAMEES ¥ 500,000& * 40 A 2,000
OZMHOIXl, 222208 sl &2
274,050 « 120HE 3,289
O=2XAElA 2082 300,000& = 13l 300
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fAM: sgIlsdH
HE: sZUSH U SYUI|E 23
el JIAHE E=sXHE (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O2Y&H EAH N 25,000 * 4004 1,000
02 =224l 160,527 135,121 25,406
O2Z&H 8= 49,000,000& 49,000
O2Z&Hl H=Hl 3,000,000 * 400 2 12,000
O2dZH 2R 1,000,000& * 40 2 4,000
OA&/ZHl Rt 4,000,000 304 12,000
O2g &t FNH(NSEHEE)
80,000,000& 80,000
OHEESHNE= 25,0003 * 4004 + 1200 & 1,200
OuEsIe =22 2,327,000& 2,327
202 Odl 13,440 15,360 A 1,920
01 = LH o4 1l 13,440 15,360 A 1,920
O=JIH g2F& ol 19,200,000& * 70% 13,440
206 M= Hl 3,000 0 3,000
01 MHZ 4l 3,000 0 3,000
SSIAH LAY 37 2
1,500,000& * 2% 3,000
207 A RO H| 1,200 1,200 0
02 ™A I 1,200 1,200 0
Od&E=24 2o 012 1,200,000& * 14 1,200
307 21201 A 1,800 1,800 0
05 BIZHRI & 3 1,800 1,800 0
OFstx 2@aHMelAld 2eltl
150,000& * 1204 1,800
405 THobH S| 247,700 158,100 89,600
01 AL =2 ZFH SH| 247,700 158,100 89,600
OsJIAZH & 28 &H 7¢ 247,700
-S4 JHE dxl 500,000& = 3CH 1,500
-0lYI(SENL A77Y)
2,000,000& * 3CH 66,000
SESYESI(SENL ARRY)
4,400,000& = 3CH 13,200
SPFE Y EII(HM =2 Y) 7,000,000& =« 3CH 21,000
~&EOFXI OO (CHA 2 )
10,000,000& * 2CH 20,000
—ESH(UMTY) 24,000,000 = 1CH 24,000
A (M7 27,000,000& =« 2CH 54,000
-HISIN(HAM T ) 26,000,000 * 1CH 26,000
-SHEDAIAX (UM PL)
22,000,000& = 1CH 22,000
SIH =32 us 114,450 144,870 A 30,420
101 @124 dl 16,704 16,704 0
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A sgI=HH
M sEQEEH L sl B3
S JIAHS dsAH (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
04 JI2ZtHIZ2 2 NEES 16,704 16,704 0
OsJIH =352 ey 16,704
-=20 1,881,000& = 1€ = 8J & 15,048
-AI3IEE D282 15,048,000 * 11% 1,656
201 et | 20,746 20,746 0
01 AP 2t 2] d| 4,350 4,350 0
O3 us 23 HEAILD ol 228 L 2T}
6,000 * 3008 1,800
OAMEZE 22 ES&EHl XNSALY HAIE 82 =
g 70,000& * 3004 & 2,100
O8&I)z=lx A= 150,000& = 33| 450
02 E22%H| 396 396 0
OS2 33,000& » 1204 & 396
03 Al HH| 16,000 16,000 0
Oss24)| CHEALD 0lgs D=H|
200,000 = 80H 16,000
206 M = Hl 57,000 57,000 0
01 X2 Hl 57,000 57,000 0
OsJIH =3ln= 57,000
-=3U] EE(SHE2)| 2 98)
40,000,000 40,000
SIRE SER((AANY 2 45)
8,000,000& 8,000
-=3lus 23 1,500,000 = 2% 3,000
282 2 BEE(LUHAIY T
300,000& = 105 * 23 6,000
301 et A =2 20,000 50,420 N 30,420
12 J|IEtE2 A= 20,000 50,420 N 30,420
OsgIIH AIE2el s&8H XN
20,000, 000& 20,000
WEsg sIAXNH 44,000 4,000 40,000
= 22,000
= 22,000
405 XHA&HF S HI 44,000 4,000 40,000
= 22,000
= 22,000
01 XA 2 ZF S H| 44,000 4,000 40,000
OE¥H (5,48) ¢ 44,000,000 44,000
= 22,000
= 22,000
HMSAAH (sHI)I=4H) 66,040 72,624 6,584
JI23H(sHIIsHEH) 66,040 72,624 N6,584
DR 66,040 72,624 A6,584
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AN seIIsHE
H: HH2IAH(sLII=4H)

el D23 (sd0lsdH) (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
201 fEt2E | 51,200 55,124 AN 3,924
01 At 2t 2l bl 46,836 49,462 N2,626
Ogas+=g(d=2Hl) 14,340,000& 14,340
Oggt+=EH| 8,406,000& 8,406
O=&Hl 8,610,000& 8,610
OSAMIl 8XtE 228,000& = 204 = 128 5,472
OHFEH 225 &l 10,008
-2 ZelH EY
440,000 * 200 * 45 = 23| » 90% 6,336
-ZZell &8
440,000& » 4CH * 13 = 90% 1,584
-gBtuely EY
200,000  8CH * 13 = 90% 1,440
-SAII EH 200,0008 « 10H = 33 * 90% 540
-FAX EU 120,000& = 100 * 13 » 90% 108
02 S2=29Hl 4,364 5,662 1,298
Od¥FHl RXZ+Hl 3,264
-CHIIs AFR 2101
1,300,000 * 50CH * 5% = 70% 2,275
-Z2lE 4,000,000& * 10CH = 2% = 70% 560
-= A 10,000,000& * 3CH * 2% = 70% 420
—FAX 600,000& = 10H * 2% * 70% 9
02223 ¢ MM(RERZ) 1,100, 000& 1,100
202 o4 4l 5,040 7,200 A2,160
01 ZLHO I 5,040 7,200 A2,160
Oa%, & J2=& 08l 7,200,000& » 70% 5,040
203 R =l 9,800 9,800 0
01 J122gg 24| 3,600 3,600 0
OJI22HILFXHI (L) 300,0008 » 128 3,600
02 Z3otatg 2=Hl 1,280 1,280 0
OZXJ A& ZZH| 40,0008 = 329¥ 1,280
04 FAE2IERFAH 4,920 4,920 0
ORN2gERF 4,920
-308 ol at 400,000& ~ 123 4,800
-30E = WOt S 5,0008 = 2% » 12& 120
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